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QUESTION 1

Your company wants to be highly responsive to bug reports or feature requests from your customers. For your
customers it is more important to have confidence in the date by which you promise to have a fix than an occasional
quick fix. 

What part of Scrum allows you to have this predictability? 

A. Agile planning 

B. The Velocity of the Team 

C. Working in strict timeboxes 

Correct Answer: C 

 

QUESTION 2

The ability for a Scrum Team to self-organize around the goals of a project is fundamental to all Agile methodologies. 

Why is a Scrum Team a self-organized team? 

A. Because it helps the Scrum Team to make their own decisions in the project 

B. So that the Scrum Team commits to their work and feels responsible 

C. To ensure that decisions are made by a collective instead of an individual 

Correct Answer: A 

 

 

QUESTION 3

What is one of the most difficult challenges you face when transitioning your software development team to Scrum? 

A. Introducing certain technical practices 

B. Team members may already have their hands full 

C. Too rapid improvements are possible 

Correct Answer: B 

 

QUESTION 4

How can pair programming help with adopting Agile? 

A. It helps recognizing who wrote which code 
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B. It is beneficial to knowledge transfer 

C. It makes development faster and cheaper 

Correct Answer: A 

 

QUESTION 5

Company ABC always works in the following way: The business chooses a set of requirements that it believes will add
business value. It communicates the requirements to the IT organization. The IT organization responds back with a plan
and estimates of cost and schedule. The business agrees to that plan. The IT organization executes the plan and
delivers a product to the business. 

What type of framework is company ABC following? 

A. DevOps 

B. DSDM 

C. Lean 

D. Waterfall 

Correct Answer: B 
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